SplashLearn

Comparison Word Problems

Draw the model. Write the equation. Solve the problem.

Jacob built 20 chairs on Monday. He built 34 chairs on Tuesday.
How many more chairs did he built on Tuesday than Monday?

Jacob built

chairs on Tuesday than Monday.

There are 30 people in team A and 24 people in team B.
How many fewer people are there in team B than team A?

There are

people in team B than team A.

Mike is 18 years old. His sister Mia is 13 years old.
How much older is Mike than Mia?

Mike is

older than Mia.




